Multiplication par Puissances de Dix (F)

Trouvez chaque produit.

68 X 1000 = 6 X100 =
52X 10 = 52X 10 =
7x1000= 78 X100 =
64 x 100 = 87 x10 =
93 x 100 = 38 X 10 =
19 X100 = 24 x 10 =
12 X100 = 83 x10=
29 x1000= 62 x 1000 =
5x10= 1x100=
2x100= 79 X 10 =
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Multiplication par Puissances de Dix (F) Solutions

Trouvez chaque produit.

68 X 1000 =68 000 6 X 100 = 600

52 x 10 =520 52 x10=520
7x1000=7000 78 x 100 =7 800
64 x 100 =6 400 87 x10=2870

93 X 100=9 300 38 X 10 =380

19 x 100 =1900 24 x 10 =240

12 x100=1 200 83 x 10 =830

29 x1000=29000 62 X 1000=62000
5x10=50 1x100=100

2x 100 =200 79 X 10 =790
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